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Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory.

2. Each questions carries 20 marks.

3. Draw diagrams wherever necessary.

4. Use simple calculator is allowed.

Q.1 Answer the following questions. (any two) (20)
a) Explain the concept of National Income.
b) Explain the growth of India on the basis of G. D. P.
c) Explain the GDP at purchasing power of parity.

Q.2 Answer the following questions. (any two) (20)
a) Explain the factor affecting consumption behavior.
b) Explain the composition and trend of saving in India.
c) Explain the concept of accelerator.

Q.3 Answer the following questions. (any two) (20)
a) Explain the difference between public goods and merits goods.
b) Explain the benefits of indirect taxes.
c) Explain the various types of deficits.

Q.4 Answer the following questions. (any two) (20)
a) Explain the structure of Balance of Payments.
b) Explain the determination of exchange rate.
c¢) Explain the reasons for exchange rate fluctuations.

Q.5 Write the following explanatory notes (Any two) (20)
a) Nominal and real exchange rate
b) Investment multiplier
¢) Goods and services tax (GST)
d) Equilibrium exchange rate.
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